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Directions: 
Below  each  sentence,  some  phrases  are  given  which 
can substitute the bold part of the sentence. Find out 
the phrase which can correctly substitute that part of 
the  sentence.  If  the  sentence  is  correct  as  it  is,  the 
answer is ‘No correction required’ or ‘No 
improvement’. 
 
1) The priest describes expectations as the root cause 
of all miseries 
a) the root cause as expectation 
b) expectations are the root causes 
c) expectations are the root cause 
d) expectation is the root cause 
e) No correction required 
 
2) This is a matter I’d rather not talk about. 
a) than I’d rather not talk about it 
b) of which I’d rather not talk about 
c) I’d rather not talk about it 
d) No improvement 
 
3) During my school days I never had the courage to 
stand my own. 
a) for my own  b) by my own 
c) on my own  d) No improvement 
 
4) Police said that basis on secret information, a trap 
was laid and the criminal was arrested near the station. 
a) that base in  b) as base on 
c) that based on d) as basis of 
e) No correction required 
 
5)  A  person  inclined  to  question  or  doubt  accepted 
opinions 
a) Adherent  b) Sceptic 
c) Zealot  d) Disciple 
 
6) The equipment is adapted to cotton industries. 
a) Adapted from 
b) Adapted for 
c) Adapted o 

d) No improvement 
 
7) If the accused was guilty for the crime, he should be 
punished. 
a) was in guilt of 
b) was guilty in 
c) has been guilty for 
d) is guilty of 
e) No correction required 
 
8) Kannan asked me to go round with them, but I didn’t 
want. 
a) don’t want 
b) don’t want to 
c) didn’t want to 
d) No improvement 
 
9) He cordially enquired how was my health. 
a) my health is 
b) my health was 
c) my health had 
d) is my health 
e) No correction required 
 
10) She did not like to have coffee nor I did. 
a) neither I liked it 
b) nor did I 
c) nor I like it 
d) No improvement 
 
11)  The  doctor  reassured  that  the  operation  was  a 
routine one. 
a) is reassuming 
b) reassured me 
c) was reassuming 
d) No improvement 
 
12)  This  is  exactly  What  he  Wanted  me  to  solve  the 
problem. 
a) how did he want me 
b) how does he want me 
c) what he wants from I 
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d) how he wanted me 
e) No correction required 
 
13) What does make him feel awkward, is only a trivial 
matter. 
a) would make him feeling 
b) makes him feel 
c) makes him to feel 
d) does make him to feel 
e) No correction required 
 
14)  He  was  a  tiny  man,  barely  five  feet  tall,  with  a 
spright walk. 
a) a sprightly walk 
b) spright walk 
c) a sprightly walking 
d) No improvement 
 
15)  The  bigger  dilemma  facing  these  mega  stores  is 
how to retain customers after the novelty wear thin. 
a) wears thin.  b) cools down. 
c) wears off.  d) No improvement 
 
16) Will you type these letters now ? 
a) Could  b) Can 
c) Shall    d) No improvement 
 
17) He is working hard to success for the examination. 
a) To succeed in 
b) For succeeding 
c) For success off 
d) For success into 
e) No correction required 
 
18) We eat that we may live. 
a) might  b) shall 
c) should  d) No Improvement 
 
19) All of you are invited to the function. 
a) at   b) for 
c) into   d) No improvement 
 

 
20) My brother is indifferent about whatever I say. 
a) in   b) of 
c) to   d) No improvement 
 
21)  One of the elected candidate, did not attend the 
swearing-in ceremony. 
a) the elected candidates 
b) the election candidate 
c) the election candidates 
d) elected candidates 
e) No correction required 
 
22) Problems faced by the common man can be 
classified by several categories. 
a) will be classified between 
b) will be classified by 
c) can be classified into 
d) can classify into 
e) No correction required 
 
23) When the owner offered tea, the peon denied it. 
a) disliked  b) declined 
c) disobeyed  d) No improvement 
 
24) If I am the P.M. I would ban all processions. 
a) will be  b) were 
c) am   d) No improvement 
 
25) Rohan was upset and so picked up his food while 
his cousins ate heartily. 
a) Picked out  b) Picked on 
c) Picked at  d) No improvement 
 
26) He parked his vehicle under the shade of a tree. 
a) on   b) in 
c) beneath  d) No improvement 
 
27)  The  mob  started  pelting  stones  on  the  vehicles 
which were parked on the street. 
a) Had started to pelting stones 
b) pelted stories starting 
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c) started stones to be pelted 
d) started to pelting stones 
e) No correction required 
 
28) She had to four previous solo shows. 
a) has   b) has had 
c) has been  d) No improvement 
 
29) The ship was not fit to survive another storm as the 
damage was beyond repair. 
a) fitting for survival 
b) fitted to survive 
c) fit to be surviving 
d) fit with survival 
e) No correction required 
 
30) After taking tuition they are now at the home in the 
Physics. 
a) at the home in Physics 
b) at home in the physics 
c) at home in Physics 
d) No improvement 
 
31) A small makeshift stage was construct with a red 
curtain for a backdrop. 
a) are constructed 
b) was constructed 
c) were constructed 
d) No improvement 
 
32) We had a grand party and we enjoyed very much. 
a) enjoyed much 
b) enjoyed very much 
c) we enjoyed ourselves very much 
d) No improvement 
 
33)  After  the  success  of  our  project  we  have  been 
receiving  more  requests  than  we  do  not  have  the 
resources to handle them. 
a) too many requests 
b) more requests that 
c) most of the requests 

d) many requests but 
e) No correction required 
 
34) By rescuing the child from fire, the local resident 
added another feather to his cap. 
a) made a significant achievement 
b) was gifted with precious thing 
c) was crowned and rewarded 
d) No improvement 
 
35) My next-door neighbour always picks up a quarrel 
with his neighbours. 
a) picks at a quarrel 
b) picks out a quarrel 
c) picks a quarrel 
d) No improvement 
 
36) He is in want of a reliable servant. 
a) refused  b) needs 
c) declined  d) No improvement 
 
37) To write regularly in pleasure is what she wants to 
do now. 
a) with pleasure b) for pleasure 
c) for the pleasure d) No improvement 
 
38)  The  NYC  building  at  New  York  City  is  as  high  as 
every other building in the United States of America. 
a) high than every other building 
b) as high as every other building 
c) higher than any other one 
d) No improvement 
 
39) The doctor has advice him to take proper diet. 
a) has advised 
b) had been advised 
c) was advised 
d) No improvement 
 
40) God has bestowed man unusual gifts. 
a) bestowed with man 
b) bestowed for man 
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c) bestowed on man 
d) No improvement 
 
41) Rahul went out without saying good bye. 
a) say even  b) even said 
c) say   d) No improvement 
 
42)  He  advised  his  son  not  doing  anything  which  is 
against his conscience. 
a) to not doing  b) never to do 
c) not done  d) no doing of 
e) No correction required 
 
43)  The  reason  of  her  outburst  in  the  party  is  yet 
unknown. 
a) reason for  b) reason to 
c) reason on  d) No improvement 
 
44) I prefer to ride than to walk. 
a) riding to walking 
b) ride to walk 
c) riding than walking 
d) No Improvement 
 
45) He must know them in their most plausible form, 
isn’t it ? 
a) isn’t he ? 
b) mustn’t he ? 
c) cant he ? 
d) No improvement 
 
46) Because the enemy had a reputation for engaging 
in sneak attacks we were frequently on the alert 
a) occasionally  b) inevitably 
c) constantly  d) No improvement 
 
47)  He  firmly  belief  is  that  Yoga  is  the  permanent 
solution to any disease. 
a) He is firm in belief 
b) His firm belief 
c) He firmly believes 
d) His firmly belief 

e) No correction required 
 
48) We has finished our lunch half an hour ago. 
a) finished 
b) will have finished 
c) had finished 
d) No improvement 
 
49) He told me that he was married four years. 
a) over four years 
b) four years ago 
c) about four years 
d) No Improvement 
 
50)  Anil’s  friends  have  convinced  him  withdrawn  his 
resignation. 
a) to withdraw from his 
b) in withdrawing him 
c) for withdrawal of 
d) to withdraw his 
e) No correction required 
 
51) He to be positively rude. 
a) was being  b) were being 
c) being   d) No improvement 
 
52) Please report to me when you’re turn back from 
Delhi. 
a) you have returned back from 
b) you return from 
c) you returned back from 
d) No Improvement 
 
53) The newspaper provides more international news 
than domestic 
a) national  b) alien 
c) provincial  d) No improvement 
 
54) Father would have been appreciated your efforts if 
you had informed him. 
a) would be appreciated 
b) would have appreciated 
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c) should have been appreciated 
d) No improvement 
 
55) If I am the P.M. I would ban all processions. 
a) will be  b) were 
c) am   d) No improvement 
 
56) She has slept for eight hours last night. 
a) slept   b) had slept 
c) has been sleeping d) No improvement 
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